
ANSWERS & EXPLANATION

Question -1) Which of the following most accurately describes the main concern highlighted
in the passage about new-age gateway devices like e-cigarettes?

A) These devices have successfully helped people quit smoking but have introduced other health
issues.
B) The devices were meant to be a healthier alternative but have led to a new public health crisis,
especially among children.
C) They have been effective in reducing adult smoking rates but have had little impact on youth.
D) E-cigarettes and vaping devices are entirely safe but misunderstood by the public.

Answer: B

Explanation: The passage primarily focuses on how new-age gateway devices like e-cigarettes,
which were initially promoted as healthier alternatives, have instead resulted in a public health
crisis, particularly by targeting and harming children.

Question -2) What is the author’s likely attitude towards the marketing practices of new-age
gateway device manufacturers?

A) Indifferent
B) Supportive
C) Critical
D) Neutral

Answer: C

Explanation: The author criticizes the marketing practices of new-age gateway device
manufacturers for targeting children with flavors and imagery, contributing to addiction and
negative health outcomes.

Question -3) Which of the following can be inferred about the impact of new-age gateway
devices on mental health?

A) They only affect the mental health of adults.
B) Their mental health impact is limited to mild anxiety.
C) They contribute to significant mental health challenges, including depression and suicidal
behavior, especially among adolescents.
D) Their impact on mental health is negligible compared to their physical effects.

Answer: C
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Explanation: The passage indicates that new-age gateway devices are associated with serious
mental health issues such as depression, anxiety, and suicidal behaviors, particularly in adolescents.

Question -4) Based on the passage, which of the following reasons is NOTmentioned as a
factor leading children to use e-cigarettes and vaping devices?

A) Peer pressure
B) Advertising and appealing flavors
C) The belief that vaping is harmless
D) A desire to improve academic performance

Answer: D

Explanation: The passage discusses peer pressure, advertising, appealing flavors, and
misconceptions about vaping's safety as factors leading to usage but does not mention any desire to
improve academic performance.

Question -5) Which of the following best describes the term "new-age gateway devices" as
used in the passage?

A) Devices that help users gradually quit smoking.
B) Devices that offer a modern, safe alternative to traditional smoking.
C) Devices that inadvertently introduce users, especially children, to nicotine addiction and other
harmful substances.
D) Devices that are primarily designed for recreational use by adults.

Answer: C

Explanation: The term "new-age gateway devices" in the passage refers to products like e-cigarettes
that, despite being marketed as safer alternatives, have led to nicotine addiction and exposure to
other harmful substances, particularly among children.

Question -6) Which of the following statements, if true, would most weaken the argument
made in the passage?

A) A new study finds that vaping is entirely harmless and has no addictive potential.
B) Recent regulations have significantly reduced the sale of vaping devices to minors.
C) New research shows that vaping helps more adults quit smoking than previously thought.
D) A report reveals that traditional cigarettes are more harmful than vaping in every aspect.

Answer: A

Explanation: If a new study were to prove that vaping is entirely harmless and non-addictive, it
would fundamentally challenge the passage's argument that these devices are causing a public
health crisis and contributing to addiction among children.
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